EDHE BDBOHES  (FFE L)

1) =29 2 0 @ 2 @ 6 (B 2 6) —16
(7) 360 8 25 9 -5
(1) (+45)4+(=74)=—(74—45)=-29
2) (=3)=(=3)=(=3)+(+3)=0
3) 3—-8+49-2=3+9-8-2
=12-10
=2
4) —-94(+16)—(=7)—8=—-9+164+7—-8=6
6 (=14)=(=7)=+(14=+7)=+2
6) —4°=—(4x4)

=—16

(7)) —8X(+9)X(—=5)=4+(8x9x5H)
=360

8) —5%(—3244)=—-5X(—9+4)
=—5X(-=5)
=25

9 (7*—4)+=(—9)=(49—4)=(-9)
=45+(-9)
=—5

1) —-16 (2) 5[
1) (+1)X3+(—2)X54+(+3)X4+(—4)X2+(+5)%xX14+(—6)%X3
=3-10+12—8+5—-18=—16
£-T, ADAREIIHIGT HEUE —16

2 6 DEMN FEH-2d5E, ADAMERX

(+1)X3+(=2)X5+(+3)X4+(—4) X2+ (+5) X1+ (—6)X

=3—-10+12—-8+5—-6X =2—6X
£oT 2—6X =-28
2-30=—28THodmH6 =5

U= T, 6 DEPHEZEEIT 5 [H]




